Total No. of Printed Pages—15
3 SEM TDC GEEC (CBCS) GE 3 (A/B/C)

i

2022
( Nov/Dec )

ECONOMICS
( Generic Elective )
Paper : GE-3

Full Marks : 80
Pass Marks : 32

Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
Paper : GE-3 A
| Indian Economy )
1. o9 PP Ted for 1x8=8

Answer the following questions :

(a) fARFcms &2
What is disinvestment?

(b) IR 8 1R AR o =S
ffee erge (2fRe 7

Which model was adopted to prepare the
Second Five-Year Plan in India?
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(0

(d)

(e)

()

(h)

(2)

SRR SeIe WA 2

What is meant by demographic
dividend? ' )

TR ST RIE AR TP e o |
Write the: nevk formula of calculating
Human Development Index (HDI).

R 7Rael 7p3 2
What is Multidimensional Poverty Index
(MP])?

wRaer o1 o[ [ B2

What are the two types of poverty?
‘Four Asian Tigers’ Il 91 /1 W?
Who are called Four Asian Tigers’?

IMF ¥ o Hiofcor foran |
Write the'full form of IMF.

2. R R @ kbR eome vy G o (afeht

seo 3T foeve) :

4x4=16

Write short notes on any four of the following
(within 150 words each) :

(a) SR AfREE

Import substitution

(b) TR TEE PRI

P23/202

Human Development Index

( Continued )

(©)
(@

(e)

(3)

= = el

Growth and Inequality

wRaer K

Poverty line

SR S SIS wF Ry SRR wor

Comparison of the rank of India and
Singapore in trade

TE PP Bed ot (AfSTHT @00 *RE foeve)
Answer the following questions (within 500 words

each) :

3. (a)

(b)

4. (a)

P23/202

SRS AT ARTTAR RS Trprz B
& wfRE 2 =caen 4 | 14
What are the overall objectives of India’s
Five-Year Planning? Discuss.

Y/ Or

35 B AR @ AR JRe e
SRYPTR o o 14

Write the advantages and disadvantages
of Economic Reforms of 1991.

.memmﬁmﬁm?w

TR [ AF TN TN ORR R v
SIS 4 | 2+2+10=14

What do you mean by death rate and
birthrate? Discuss briefly the trends of
birthrate and death rate in India.
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(b)

5. (a)

(b)

6. (a)

(b)

(4)

, %1/ Or
SRy HYAES HPRYl IR/A ASR TAE
HICHATAT F91 1 14

Discuss the impact of growth of
population on Indian economy.

Rred @& {7 SRR WRyel TR
FRPIR IR 90| 2+12=14

What is incidence of poverty? Explain the
causes of poverty in India.

&4/ Or
SHE §F (TR AP WF oS eed

AT 341 | 14

Discuss about the magnitude and
nature of income inequality in India.

SRO HWF wRrd IR SRy g
R I 14
Comparatively analyze the economy of
India and South Korea.

%/ Or

RS ¥ HRAWT HDI ¥ Tl 391 | Bt
AT T A ST TSP
TGT A 2+12=14

" Compare the HDI rank of India and

P23/202

Taiwan. Explain the measures taken by
Taiwan for economic development.

( Continued )

(5)

Paper : GE-3 B
( Money and Financial Markets )

1. woe faART PeerEm el fos - 1x8=8
Answer the following as directed :

(@)

(b)

P23/202

S TEesed o (9p. Wi M) oo™
QHBR TS F=FS ?

Systematic Investment Plan (SIP) is
related to

(i) Topa T

mutual fund

(i) SROE G AW A
LIC

(iii) I QT

commercial bank

(iv) ©RFEY ALY A&
post office savings scheme

(= Taachr M Bfevean )

( Choose the correct answer )

___ 2738 9 ¢ RES e @ 2/
figey = wF WA SEAER oRka o

e = ( A 51 *{AFA)

is a situation in the bond market
when the rate of interest falls to its
lowest level and speculative demand for
money becomes perfectly elastic.

( Fill in the blank)
( Turn Over )




(c)

(d

(e)

0]

(6)

— 9 A R4 T IS SRR S

g;imw i %ﬁmm IR R oW
of &2 ¥

| (AR ARAIFA)

is the money which is accepted as
a mediun; of exchange because of the
trust between the payer and the payee.

( Fill in the blank )

SRR SRR R TuReFRl AER bl
Trrzga

Give one example of non-banking
financial intermediaries in India.

— X9 SReH T IERY FEEe |
(TR FIFAN)

is the regulatory body for the
capital market in India.

( Fill in the blank )

“Sensex’¥ =9 FoH R 2

What is the full form of ‘Sensex’?

(9) TRTS ‘fAgh’ @fom we e ?

P23/202

When did ‘Nifty’ start in India?

(i) >»dx (i) Ssdv

1992 1998

(iii) >550 (iv) 5558

1996 1994
(o= TaTh1 3P Bfrear )

( Choose the correct answer )

( Continued )

)

2. oY GR forn -

(7)

IR AR R IR FRW IR FI AR
S (FICHI ACH 7T IR ?
Which of the following is a step that the
Central Bank will take to increase the
overall availability of credit in the market?
) FRT QATF IR GE Tl TS
& R

It will sell the government securities
in the open market

(i) A QATF TR AP TR THH
o T IR :

It will buy the government securities
from the open market

(i) IR Qe Row @ @@ @ IR

It will increase reverse repo rate

(iv) A AT @ @ F& IR
It will raise the repo rate

(wmaﬁ%ﬁw)

( Choose the correct answer )

Write short notes on :

(@)

(b)

P23/202

FMRFFE AT IR

Functions of cqmmercial bank

Tw-HIOrTIE 4
High-powered money

( Turn Quer )

4x4=16



(8)

€ R PR

Financial institution
(d) B I PIRT
Stock market index
3. T I @RA? JER IRRA I 90 1 4+8=12
Define money. Discuss the functions of
money.
%1/ Or
TR @AMIAR (Pqe SO RES @Ws SReg a4
TafS WA F1 | WA @A QAR SR -
VIO A CofeTy ? 8+4=12
Discuss RBI’s approach to supply of money.
How does money supply influence the general
price level?
4. SR R Y63 W Ry weamsn =11 11
Discuss the financial sector reform in India.
2/ Or
€O forat 5%+5%=11
Write notes on :
(@) SR AT W
Primary market of securities
(b) S (N9 IHR '
Secondary market of securities
P23/202 ( Continued )

5.
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(9)

8% TS W 2 89 Tekox SR o= &4 |
3+8=11

What is stock market? Discuss the functions

of stock market.

91/ Or

B 0D TPIE AT FW %S o 941 | T
ACE PRI ST A 397 | 7+4=11
Discuss the methodology for calculating stock

market index. Discuss the importance of
stock market index.

T FE WM NP Ao oG e 4 |
T TH N[ BT By w0 8+3=11

Discuss the expectation theory of term
structure of interest rate. Mention the sources
of interest rate differentials.

w%]T / Or
o A o B 3@ 2 [ 799 o M wadh
SCAGA 347 | 2+9=11

What is liquidity preference? Discuss the
liquidity preference theory of interest rate.

SO T AT Ty SN T 1| WA R
QeI FEE 3R AT TErEE R R wiRen
JRYY I, HCADAT F4T | 5+6=11
Discuss the objective of monetary policy in
India. What are the instruments used by

monetary authority to exercise control over
money supply in the economy?

( Turn Over )



(10 )

© 9{qr/ Or

Wﬂij@m{mﬁﬁﬂﬁmwwu 11

Discuss the current monetary policy of India.

Paper : GE-3 C

( Environmental Economics )

1. mﬁamﬁmmwﬁm: 1x8=8

Answer the following as directed :

(@)

P23/202

AR 8T T GO

Environmental quality is a

(i) =4 G
public good

(i) IS Ty

private good

(iii) SAZORT T

common property resource

(iv) ST 918 Ty
None of the above

(% Taach! A Sfepear )

( Choose the correct answer )

( Continued )

P23/202

(11

(b) TR TROYEE SRS 560l XA

The condition for optimum a]locatlon of
resource is

() R TR 7 > T T TS

' MSC >MSB .

(i) S ARF T = AT ANREE =T
MSC = MSB

(i) AT TNRE | < AT IR =T
MSC < MSB

(iv) €T GBS ¥
None of the above

(=% Ta3co Afo Tferean )

( Choose the correct answer )

(c) LTI eI b1 C3ME forar o

Mention one characteristic of common
property resource.

(d) “REMY AR THFOFS T I 7T
SRR 2 I QRACDT SARCGRT TSR -
S99 o
Name the economist who advocated
the assignment of property rights

for efficient solution of envuonmental
pollution.

(e) IR I B2
What is carbon trading?
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(13)

(12)
Zﬂ?ﬁ'@‘m o e) ~REFRRET =1 Awer =
0 Nax ® 5}@ <0 ¢RI o Contingent valuation method
ame one naturally generated greenhouse
gas. (N IS A ARvEE
(9) W& TI TR IR TR TR b o T Joint Forest Management
forn
Mention one man-made pollutant SO PR BT o (0T oo "R foewe)
responsible for ozone layer depletion. Ansl:\)rer the following questlons (within 500 words
eac
(h) TTE-HRPR TTTHTOR (FI4T 4RTEGR <O
SRmel SEy 91 3. (@ IR Fra B W? @R I ATIE
Mention one limitation of Pearce- el Toay RfGLT Brzaa fan ) et
"Atkinson approach of measuring TeER @At AR (PR ST
. Sustainability. : IR 1R, =D 140 2+3+8=13
, What are externalities? Give three
2. wIw ﬁm @Al SiRER examples each of positive and negative
(e R S 5 Gl o externalities. How can externalities
S0 T foowe) : 5x4=20 be internalized through government
Write short notes on any four of the following intervention? Explain.
(within 150 words each) : Y1/ Or
(a) TR o | (b) '8 TG AYRIPER R R 7 2F AR
Common property resources - o W SiIFR A I TGS ‘131 THY
AN TS A THONE® ForFa AR IR,
TR Rweer © TR
) S ) ) b1 foaqq SRS I ¥4 1 3+10=13
A ources of market failure What are the assumptions of Coase
(¢ *RET SRR TR theorem? Explain with a diagram, how
Obiecti . . bargaining between two parties will
Jectives of environmental economics : ultimately generate an efficient outcome
(d) I=THY even if property right is assigned to the
. lluting firm.
Sustainable development poTiiting frm
P23/202 { Turn Over )
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(14 )

4. (@ FFT T WF @RCRT a@mT SEE
JRERT P ST Srafaere oS R
ffan sigge [ I JEWH (TGS
@ S ufie wRm? 6+6+1=13

Explain with diagram, the emission fee
and tradable pollution permit as the two
incentive-based solutions to the environ-
mental problem. Which method is more
familiar in the contemporary world?

%€/ Or
(b) oe fAERE wwse R o
AFIETR T 0 5+4+4=13

Explain the global environmental
concern with special reference to the
following :

() IR RIS
Climate change
(i) WE'q TR ST
Ozone layer depletion

(i) corere el 3%
Global warming
5. (@) R TOEE T R AR
TR (SR S 1 | 3+10=13

What is the need for environmental
valuation? Discuss the methods of
environmental valuation.

P23/202 ( Continued )

(15)

{1/ Or

(b) cerRm w3 Ry @mde R iRefi .
TEURFE A A IR AR, T I R
TR JRY W SPIRYFIR SCABA 4 | ,

. 7+6=13
Explain how the hedonic pricing method
can be used for valuation of an environ-
mental good. Discuss the advantages
and disadvantages of this method.

6. (a) ITTHY TR RCT (RIPER WD
S 901 13
Critically discuss different concepts of
sustainable development.

%31/ Or

(b) *RPTR w1 {1 XTI Jercet 1 =, I
| AT TR O IR T we
Ram ez 3 ot SR 2 (oI Teww AowH
I faan 6+7=13
Explain the meaning of strong and weak
sustainability. Do you think that there
are conflicts between economic growth

and sustainable development? Give
~ reasons for your answer.

* %k
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